

GENERALIZATIONS OF SOME HERMITE-HADAMARD-TYPE INEQUALITIES

Houkei Fok and Seakweng Vong¹

Department of Mathematics, University of Macau, Macao, P. R. China

e-mails: fokhoukei@gmail.com, swvong@umac.mo

(Received 24 October 2012; accepted 19 August 2014)

Recently some new Hermite-Hadamard-type inequalities for convex functions are established by Tseng *et al.* [Computers and Mathematics with Applications, **62**, 401-418, 2011]. In this paper, we give some generalizations of this result.

Key words : Hermite-Hadamard inequality; convex function.

1. INTRODUCTION

For a convex function $f : [a, b] \rightarrow \mathbb{R}$, it is known that [10] the following Hermite-Hadamard inequality holds

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(s)ds \leq \frac{f(a)+f(b)}{2}.$$

There have been lots of results that extend and generalize this well-known integral inequality [2]-[7], [9], [11], [14], [15], [17], [19]-[23]. Generalizations of this type of inequalities from the view point of operators can be found in [8] and [12]. Weighted Hermite-Hadamard inequalities are also of interested in the literature (see [1], [13], [18]).

This paper is closely related to a recent result [16]. In [16], by considering four points x, y, y', x' in $[a, b]$ such that $x < y \leq y' < x'$ and $x + x' = y + y'$, some new Hermite-Hadamard-type inequalities were proved. We give some extensions of these new inequalities from a weighted viewpoint.

¹The research of this author is partially supported by the grant MYRG2015-00064-FST from University of Macau and the Macao Science and Technology Development Fund (FDCT) 001/2013/A.

Throughout this paper, we suppose that f is a convex function on $[a, b]$ and $a \leq x < y \leq y' < x' \leq b$. In addition, we impose the assumption $\lambda x + \lambda' x' = \lambda y + \lambda' y'$ for some $\lambda, \lambda' > 0$. When $\lambda = \lambda' = 1$, this reduces to the one imposed in [16].

We note that the analysis in [16] depends heavily on a lemma in [11]. Correspondingly, we have the following lemma which is the main tool for deriving our results.

Lemma 1.1 — Let $f : [a, b] \rightarrow \mathbb{R}$ be convex. Consider $a \leq u < u' \leq b$ and $v, v' \in [u, u']$ with $\lambda u + \lambda' u' = \lambda v + \lambda' v'$. Then

$$\lambda f(v) + \lambda' f(v') \leq \lambda f(u) + \lambda' f(u').$$

PROOF : Note that

$$v = \frac{u' - v}{u' - u}u + \frac{v - u}{u' - u}u', \quad v' = \frac{u' - v'}{u' - u}u + \frac{v' - u}{u' - u}u'.$$

It follows from the convexity of f that

$$\begin{aligned} \lambda f(v) + \lambda' f(v') &\leq \lambda \left[\frac{u' - v}{u' - u}f(u) + \frac{v - u}{u' - u}f(u') \right] + \lambda' \left[\frac{u' - v'}{u' - u}f(u) + \frac{v' - u}{u' - u}f(u') \right] \\ &= \frac{\lambda(u' - v) + \lambda'(u' - v')}{u' - u}f(u) + \frac{\lambda(v - u) + \lambda'(v' - u)}{u' - u}f(u') = \lambda f(u) + \lambda' f(u'). \quad \square \end{aligned}$$

As in [16], our main results are stated in terms of some functions which describe the average of f in a certain sense. In the next lemma, we give properties of these functions, some of which will be used in the next section.

Lemma 1.2 — The functions defined by

$$\begin{aligned} \mathcal{H}_1(t) &= \frac{1}{(\lambda + \lambda')(y - x)} \int_x^y \lambda f(ts + (1 - t)y) + \lambda' f\left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1 - t)y'\right) ds, \\ \mathcal{P}_1(t) &= \frac{1}{(\lambda + \lambda')(y - x)} \int_x^y \lambda f(tx + (1 - t)s) + \lambda' f\left(tx' + (1 - t) \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) ds, \\ \mathcal{G}_1(t) &= \frac{1}{\lambda + \lambda'} \left[\lambda f(tx + (1 - t)y) + \lambda' f(tx' + (1 - t)y') \right], \end{aligned}$$

are convex and increasing on $[0, 1]$. In addition, the inequality $\mathcal{H}_1(t) \leq \mathcal{G}_1(t) \leq \mathcal{P}_1(t)$ holds.

PROOF : The convexity can be checked by direct calculation. To prove the monotonicity, let $0 \leq t_1 < t_2 \leq 1$.

Notice that

$$[t_1 s + (1 - t_1)y] - [t_2 s + (1 - t_2)y] = (t_1 - t_2)(s - y) > 0,$$

$$\left[t_1 \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1 - t_1)y' \right] - \left[t_2 \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1 - t_2)y' \right] = (t_1 - t_2) \frac{\lambda(y - s)}{\lambda'} < 0.$$

One can now apply Lemma 1.1 to get that $\mathcal{H}_1(t_1) < \mathcal{H}_1(t_2)$. This implies that $\mathcal{H}_1(t)$ is increasing. The corresponding conclusion for $\mathcal{P}_1(t)$ and $\mathcal{G}_1(t)$ can be proved similarly.

For $s \in [x, y]$, by Lemma 1.1, we have

$$\begin{aligned} & \lambda f(ts + (1 - t)y) + \lambda' f\left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1 - t)y'\right) \\ & \leq \lambda f(tx + (1 - t)y) + \lambda' f(tx' + (1 - t)y') \\ & \leq \lambda f(tx + (1 - t)s) + \lambda' f\left(tx' + (1 - t) \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) \end{aligned}$$

and the desired relation follows. □

Notice that when $\lambda = \lambda' = 1$, the functions in Lemma 1.2 reduce to $H_1(t), P_1(t)$ and $G_1(t)$ defined in [16]. Similar extensions of the notations in [16] are used in the remaining of this paper. In the next section, we show that, for the functions which we introduce, the Hermite-Hadamard-type inequalities in [16] can be generalized.

2. MAIN RESULTS

We are now ready to state and prove our main results. Throughout this paper, we denote $I = [x, y]$, $I' = [y', x']$, $I_1 = \left[\frac{x + y}{2}, y \right]$, $I'_1 = \left[y', \frac{x' + y'}{2} \right]$, $I_2 = \left[x, \frac{x + y}{2} \right]$ and $I'_2 = \left[\frac{x' + y'}{2}, x' \right]$. We first have the following:

Theorem 2.1 — *Denote*

$$\begin{aligned} A &= \frac{1}{\lambda + \lambda'} \left(\lambda \frac{\int_I f(s) ds}{|I|} + \lambda' \frac{\int_{I'} f(s) ds}{|I'|} \right), \quad A' = \frac{1}{\lambda + \lambda'} \left(\lambda' \frac{\int_I f(s) ds}{|I|} + \lambda \frac{\int_{I'} f(s) ds}{|I'|} \right), \\ A_1 &= \frac{1}{\lambda + \lambda'} \left(\lambda \frac{\int_{I_1} f(s) ds}{|I_1|} + \lambda' \frac{\int_{I'_1} f(s) ds}{|I'_1|} \right). \end{aligned}$$

Under our assumptions, the following inequalities hold:

$$\frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} \leq A_1 \leq \int_0^1 \mathcal{H}_1(t) dt \leq \frac{1}{2} \left(\frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} + A \right), \tag{1}$$

$$\frac{1}{\lambda + \lambda'} \left(\lambda' \frac{\int_{J_1} f(s) ds}{|J_1|} + \lambda \frac{\int_{J'_1} f(s) ds}{|J'_1|} \right) \leq \int_0^1 \mathcal{H}_2(t) dt \leq \frac{1}{2} \left[\frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} + A' \right], \tag{2}$$

where $J_1 = [\frac{y'+x}{2}, \frac{y'+y}{2}]$, $J'_1 = [\frac{y+y'}{2}, \frac{y+x'}{2}]$ and

$$\mathcal{H}_2(t) = \frac{1}{(\lambda + \lambda')(y - x)} \int_x^y \lambda' f(ts + (1-t)y') + \lambda f\left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y\right) ds. \quad (3)$$

If f is differentiable on $[a, b]$, for $t \in [0, 1]$, we have

$$0 \leq A - \mathcal{H}_1(t) \leq (1-t) \left[\frac{\lambda f(x) + \lambda' f(x')}{(\lambda + \lambda')} - A \right], \quad (4)$$

$$0 \leq \frac{\lambda f(x) + \lambda' f(x')}{\lambda + \lambda'} - \mathcal{H}_1(t) \leq \frac{\lambda' |I'| f'(x') - \lambda |I| f'(x)}{\lambda + \lambda'}, \quad (5)$$

$$0 \leq \mathcal{H}_1(t) - \frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} \leq \frac{\lambda' |I'| f'(x') - \lambda |I| f'(x)}{\lambda + \lambda'}. \quad (6)$$

PROOF : We first prove (1). By Lemma 1.1, we have

$$\begin{aligned} \lambda f(y) + \lambda' f(y') &= \frac{1}{y-x} \int_x^y \lambda f(y) + \lambda' f(y') ds \\ &\leq \frac{1}{y-x} \int_x^y \lambda f\left(\frac{y+s}{2}\right) + \lambda' f\left(\frac{\lambda y + 2\lambda' y' - \lambda s}{2\lambda'}\right) ds. \end{aligned}$$

This gives the first inequality in (1). The convexity of f yields

$$\begin{aligned} &\frac{2}{(\lambda + \lambda')(y - x)} \int_x^y \int_0^{\frac{1}{2}} \lambda f\left(\frac{y+s}{2}\right) + \lambda' f\left(\frac{\lambda y + 2\lambda' y' - \lambda s}{2\lambda'}\right) dt ds \\ &\leq \frac{2}{(\lambda + \lambda')(y - x)} \int_x^y \int_0^{\frac{1}{2}} \frac{\lambda}{2} \left[f(ty + (1-t)s) + f(ts + (1-t)y) \right] \\ &\quad + \frac{\lambda'}{2} \left[f\left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y'\right) + f\left(ty' + (1-t) \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) \right] dt ds, \end{aligned}$$

which is the second inequality in (1). By Lemma 1.1, for $s \in [x, y]$, we have

$$\begin{aligned} f(ty + (1-t)s) + f(ts + (1-t)y) &\leq f(s) + f(y), \\ f\left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y'\right) + f\left(ty' + (1-t) \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) \\ &\leq f\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) + f(y'). \end{aligned}$$

We can thus get that

$$\begin{aligned} & \int_0^1 \mathcal{H}_1(t) dt \\ & \leq \frac{1}{2} \left(\frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} + \frac{1}{(\lambda + \lambda')(y-x)} \int_x^y \lambda f(s) + \lambda' f\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) ds \right) \\ & = \frac{1}{2} \left(\frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} + \frac{1}{(\lambda + \lambda')(y-x)} \left(\lambda \int_I f(s) ds + \frac{(\lambda')^2}{\lambda} \int_{I'} f(s) ds \right) \right) \\ & = \frac{1}{2} \left(\frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} + \frac{\lambda \int_I f(s) ds + \lambda' \int_{I'} f(s) ds}{\lambda + \lambda'} \right). \end{aligned}$$

The proof of (2) goes in the same spirit as that of (1) and can be concluded by the following:

$$\begin{aligned} & \frac{2}{y-x} \int_x^y \int_0^{\frac{1}{2}} \frac{\lambda'}{\lambda + \lambda'} f\left(\frac{y'+s}{2}\right) + \frac{\lambda}{\lambda + \lambda'} f\left(\frac{(\lambda + \lambda')y + \lambda' y' - \lambda s}{2\lambda'}\right) dt ds \\ & \leq \frac{1}{y-x} \int_x^y \int_0^{\frac{1}{2}} \frac{\lambda'}{\lambda + \lambda'} [f(ty' + (1-t)s) + f(ts + (1-t)y')] \\ & \quad + \frac{\lambda}{\lambda + \lambda'} \left[f\left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y\right) + f\left(ty + (1-t) \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) \right] dt ds \\ & \leq \frac{1}{y-x} \int_x^y \int_0^{\frac{1}{2}} \frac{\lambda'}{\lambda + \lambda'} (f(s) + f(y')) + \frac{\lambda}{\lambda + \lambda'} \left(f(y) + f\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) \right) dt ds \\ & = \frac{1}{2(y-x)} \int_x^y \frac{1}{\lambda + \lambda'} (\lambda f(y) + \lambda' f(y')) + \frac{1}{\lambda + \lambda'} \left(\lambda' f(s) + \lambda f\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) \right) ds, \end{aligned}$$

where the inequalities are consequences of Lemma 1.1.

To prove (4), note that the first inequality follows from Lemma 1.2 and $\mathcal{H}_1(1) = A$. If f is differentiable, by the convexity of f , for $s \in [x, y]$ and $t \in [0, 1]$, we have

$$f(s) - f(ts + (1-t)y) \leq (1-t)(s-y)f'(s), \quad (7)$$

$$\begin{aligned} & f\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) - f\left(t\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) + (1-t)y'\right) \\ & \leq (1-t) \left(\frac{\lambda(y-s)}{\lambda'} \right) f'\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right). \end{aligned} \quad (8)$$

On the other hand, integration by part gives

$$\begin{aligned} & \frac{1}{(\lambda + \lambda')(y-x)} \int_x^y \lambda(s-y)f'(s) + \lambda' \frac{\lambda(y-s)}{\lambda'} f'\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) ds \\ & = \frac{\lambda f(x) + \lambda' f(x')}{(\lambda + \lambda')} - \frac{1}{(\lambda + \lambda')(y-x)} \int_x^y \lambda f(s) + \lambda' f\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) ds. \end{aligned}$$

The second inequality in (4) follows by adding (7) to (8) and integrating the inequalities from x to y . Similarly, we have

$$f(x) - f(y) \leq (x - y)f'(x), \quad f(x') - f(y') \leq (x' - y')f'(x').$$

Thus

$$\frac{\lambda f(x) + \lambda' f(x')}{\lambda + \lambda'} - \frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} \leq \frac{\lambda}{\lambda + \lambda'}(x - y)f'(x) + \frac{\lambda'}{\lambda + \lambda'}(x' - y')f'(x').$$

Note that, by Lemma 1.2, we have

$$\frac{\lambda f(y) + \lambda' f(y')}{(\lambda + \lambda')} = \mathcal{H}_1(0) \leq \mathcal{H}_1(t) \leq \mathcal{H}_1(1),$$

$$\mathcal{P}_1(0) \leq \mathcal{P}_1(t) \leq \mathcal{P}_1(1) = \frac{\lambda f(x) + \lambda' f(x')}{(\lambda + \lambda')}$$

and $\mathcal{H}_1(1) = \mathcal{P}_1(0)$. This gives the last two inequalities in the theorem. \square

One can easily see that, when $\lambda = \lambda' = 1$, Theorem 2.1 reduces to Theorem 1 in [16]. We will generalize Theorem 2-4 of [16] in a similar way. These are given in the following theorems.

Remark 2.1 : If we define

$$\tilde{\mathcal{H}}_2(t) = \frac{1}{(\lambda + \lambda')(y - x)} \int_x^y \lambda f(ts + (1 - t)y') + \lambda' f\left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1 - t)y\right) ds,$$

we can show that

$$\begin{aligned} f\left(\frac{y + y'}{2}\right) &\leq \frac{1}{\lambda + \lambda'} \left(\lambda \frac{\int_{J_1} f(s) ds}{|J_1|} + \lambda' \frac{\int_{J'_1} f(s) ds}{|J'_1|} \right) \\ &\leq \int_0^1 \tilde{\mathcal{H}}_2(t) dt \leq \frac{1}{2} \left[\frac{\lambda' f(y) + \lambda f(y')}{\lambda + \lambda'} + A \right] \end{aligned}$$

which gives a complete generalization of the inequalities for $H_2(t)$ in [16]. However, by using the definition (3), we can obtain a generalization of Theorem 4 in [16], while this cannot be achieved by using $\tilde{\mathcal{H}}_2(t)$.

Theorem 2.2 — Denote $A_2 = \frac{1}{\lambda + \lambda'} \left(\lambda \frac{\int_{I_2} f(s) ds}{|I_2|} + \lambda' \frac{\int_{I'_2} f(s) ds}{|I'_2|} \right)$. We have

$$A \leq A_2 \leq \int_0^1 \mathcal{P}_1(t) dt \leq \frac{1}{2} \left(\frac{\lambda f(x) + \lambda' f(x')}{\lambda + \lambda'} + A \right). \quad (9)$$

If f is differentiable on $[a, b]$, then

$$\begin{aligned} 0 &\leq t \left[A - \frac{\lambda f(y) + \lambda' f(y')}{(\lambda + \lambda')} \right] \leq \mathcal{P}_1(t) - A, \\ 0 &\leq \mathcal{P}_1(t) - \frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} \leq \frac{\lambda' |I'| f'(x') - \lambda |I| f'(x)}{\lambda + \lambda'}, \\ 0 &\leq \frac{\lambda f(x) + \lambda' f(x')}{\lambda + \lambda'} - \mathcal{P}_1(t) \leq \frac{\lambda' |I'| f'(x') - \lambda |I| f'(x)}{\lambda + \lambda'}, \\ 0 &\leq \mathcal{P}_1(t) - \mathcal{H}_1(t) \leq \frac{\lambda' |I'| f'(x') - \lambda |I| f'(x)}{\lambda + \lambda'}. \end{aligned}$$

PROOF : The proof of (9) is similar to that of (1). We summarize it as follows.

$$\begin{aligned} &\frac{1}{(\lambda + \lambda')(y - x)} \int_x^y \lambda f(s) + \lambda' f\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) ds \\ &\leq \frac{2}{(\lambda + \lambda')(y - x)} \int_x^y \int_0^{\frac{1}{2}} \lambda f\left(\frac{x + s}{2}\right) + \lambda' f\left(\frac{\lambda x + 2\lambda' x' - \lambda s}{2\lambda'}\right) dt ds \\ &\leq \frac{1}{(\lambda + \lambda')(y - x)} \int_x^y \int_0^{\frac{1}{2}} \lambda f(tx + (1 - t)s) + \lambda f((1 - t)x + ts) \\ &\quad + \lambda' f\left(tx' + (1 - t)\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) + \lambda' f\left((1 - t)x' + t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) dt ds \\ &\leq \frac{1}{(\lambda + \lambda')(y - x)} \int_x^y \int_0^{\frac{1}{2}} \lambda(f(s) + f(x)) + \lambda' \left[f\left(\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) + f(x') \right] dt ds, \end{aligned}$$

where all the inequalities can be obtained by Lemma 1.1.

For the remaining of the theorem, notice that by the convexity of f , we have

$$\begin{aligned} f(tx + (1 - t)s) - f(s) &\geq t(x - s)f'(s), \\ f\left(tx' + (1 - t)\left(\frac{\lambda x + \lambda' x' - \lambda s}{\lambda'}\right)\right) - f\left(\frac{\lambda x + \lambda' x' - \lambda s}{\lambda'}\right) \\ &\geq t\left(\frac{\lambda(s - x)}{\lambda'}\right) f'\left(\frac{\lambda x + \lambda' x' - \lambda s}{\lambda'}\right). \end{aligned}$$

We can follow the proof of (4)-(6) to get the conclusion. □

Our next task is to give a generalization of Theorem 3 in [16].

Theorem 2.3 — Under our assumptions, the following inequalities hold:

$$A_1 \leq \frac{\lambda f\left(\frac{y+x}{2}\right) + \lambda' f\left(\frac{x'+y'}{2}\right)}{(\lambda + \lambda')} \leq \int_0^1 \mathcal{G}_1(t) dt \leq \frac{1}{2} \left(\frac{\lambda f(x) + \lambda' f(x')}{\lambda + \lambda'} + \frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} \right), \quad (10)$$

$$\begin{aligned} \frac{1}{\lambda + \lambda'} \left(\lambda \frac{\int_{J_2} f(s) ds}{|J_2|} + \lambda' \frac{\int_{J'_2} f(s) ds}{|J'_2|} \right) &\leq \frac{\lambda f\left(\frac{x'+y}{2}\right) + \lambda' f\left(\frac{x+y'}{2}\right)}{\lambda + \lambda'} \\ &\leq \int_0^1 \mathcal{G}_2(t) dt \\ &\leq \frac{1}{2} \left[\frac{\lambda f(x') + \lambda' f(x)}{\lambda + \lambda'} + \frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} \right], \end{aligned} \quad (11)$$

where $J_2 = [\frac{x'+x}{2}, \frac{x'+y}{2}]$, $J'_2 = [\frac{x+y'}{2}, \frac{x+x'}{2}]$ and $\mathcal{G}_2(t) = \frac{\lambda f(tx'+(1-t)y) + \lambda' f(tx+(1-t)y')}{\lambda + \lambda'}$.

Moreover, one has

$$0 \leq \mathcal{H}_1(t) - \frac{\lambda f(y) + \lambda' f(y')}{\lambda + \lambda'} \leq \mathcal{G}_1(t) - \mathcal{H}_1(t), \quad (12)$$

and

$$0 \leq \mathcal{P}_1(t) - \mathcal{G}_1(t) \leq \frac{\lambda f(x) + \lambda' f(x')}{\lambda + \lambda'} - \mathcal{P}_1(t). \quad (13)$$

PROOF : The inequality (10) can be concluded by

$$\begin{aligned} &\frac{1}{(\lambda + \lambda')(y-x)} \int_x^y \lambda f\left(\frac{y+s}{2}\right) + \lambda' f\left(\frac{\lambda y + \lambda' y' + \lambda' y' - \lambda s}{2\lambda'}\right) ds \\ &\leq \frac{1}{(\lambda + \lambda')(y-x)} \int_x^y \lambda f\left(\frac{y+x}{2}\right) + \lambda' f\left(\frac{x'+y'}{2}\right) ds \\ &\leq \frac{1}{y-x} \int_x^y \int_0^{\frac{1}{2}} \frac{\lambda[f(tx+(1-t)y) + f(ty+(1-t)x)]}{\lambda + \lambda'} \\ &\quad + \frac{\lambda'[f(tx'+(1-t)y') + f(ty'+(1-t)x')]}{\lambda + \lambda'} dt ds \\ &\leq \frac{1}{y-x} \int_x^y \int_0^{\frac{1}{2}} \frac{\lambda[f(x) + f(y)] + \lambda'[f(x') + f(y')]}{\lambda + \lambda'} dt ds, \end{aligned}$$

where we have used Lemma 1.1 for the first and the third inequalities, while the second one is obtained by the convexity of f .

Now we turn to prove (11). We have

$$\begin{aligned} &\frac{1}{y-x} \int_x^y \frac{\lambda}{\lambda + \lambda'} f\left(\frac{x'+s}{2}\right) + \frac{\lambda'}{\lambda + \lambda'} f\left(\frac{(\lambda + \lambda')x + \lambda'x' - \lambda s}{2\lambda'}\right) ds \\ &\leq \frac{1}{y-x} \int_x^y \frac{1}{\lambda + \lambda'} \left[\lambda f\left(\frac{x'+y}{2}\right) + \lambda' f\left(\frac{x+y'}{2}\right) \right] ds \\ &\leq \frac{1}{\lambda + \lambda'} \int_0^{\frac{1}{2}} \lambda[f(ty+(1-t)x') + f(tx'+(1-t)y)] \\ &\quad + \lambda'[f(ty'+(1-t)x) + f(tx+(1-t)y')] dt \\ &\leq \frac{1}{\lambda + \lambda'} \int_0^{\frac{1}{2}} \lambda[f(x') + f(y)] + \lambda'[f(x) + f(y')] dt, \end{aligned}$$

where the first and the third inequalities are once again consequences of Lemma 1.1, while the middle is by convexity.

To prove (12), notice that

$$\int_x^y f(ts + (1-t)y)ds = \int_x^y f(t(x+y-s) + (1-t)y)ds,$$

$$\int_x^y f\left(t\frac{\lambda y + \lambda'y' - \lambda s}{\lambda'} + (1-t)y'\right)ds = \int_x^y f\left(t\frac{\lambda'y' - \lambda x + \lambda s}{\lambda'} + (1-t)y'\right)ds.$$

Thus

$$\begin{aligned} & 2\mathcal{H}_1(t) \\ &= \frac{1}{(\lambda + \lambda')(y-x)} \left[\lambda \int_x^y f(ts + (1-t)y)ds + f(t(x+y-s) + (1-t)y)ds \right. \\ &\quad \left. + \lambda' \int_x^y f\left(t\frac{\lambda y + \lambda'y' - \lambda s}{\lambda'} + (1-t)y'\right)ds + f\left(t\frac{\lambda'y' - \lambda x + \lambda s}{\lambda'} + (1-t)y'\right)ds \right] \\ &\leq \frac{1}{(\lambda + \lambda')(y-x)} \int_x^y \lambda[f(tx + (1-t)y) + f(y)] + \lambda'[f(y') + f(tx' + (1-t)y')]ds, \end{aligned}$$

which is a consequence of Lemma 1.1. The inequality (13) can be proved similarly. □

Finally we conclude this paper with the following theorem.

Theorem 2.4 — Let $\mathcal{L}_1(t) = \frac{1}{2} \left(\frac{\int_I f(s;t)ds}{|I|} + \frac{\int_{I'} f(s;t)ds}{|I'|} \right)$,

$$\begin{aligned} \mathcal{F}_1(t) = \frac{1}{2(\lambda + \lambda')} & \left[\frac{1}{|I|} \int_I \left(\lambda \frac{\int_I f(s, u; t)du}{|I|} + \lambda' \frac{\int_{I'} f(s, u; t)du}{|I'|} \right) ds \right. \\ & \left. + \frac{1}{|I'|} \int_{I'} \left(\lambda \frac{\int_I f(s, u; t)du}{|I|} + \lambda' \frac{\int_{I'} f(s, u; t)du}{|I'|} \right) ds \right], \end{aligned}$$

where

$$f(s; t) = \frac{\lambda f(tx + (1-t)s) + \lambda' f(tx' + (1-t)s)}{\lambda + \lambda'}, \quad f(s, u; t) = f(ts + (1-t)u).$$

Then $\mathcal{L}_1(t)$ is convex on $[0, 1]$ and

$$\frac{\mathcal{H}_1(t) + \mathcal{H}_2(t)}{2} \leq \mathcal{F}_1(t) \leq \mathcal{L}_1(1-t), \tag{14}$$

$$0 \leq \mathcal{F}_1(t) - \frac{1}{2}(\mathcal{H}_1(t) + \mathcal{H}_2(t)) \leq \mathcal{L}_1(1-t) - \mathcal{F}_1(t). \tag{15}$$

PROOF : The convexity of \mathcal{L}_1 can be checked by direct calculation. To prove (14), notice that Lemma 1.1 implies

$$\begin{aligned} & \lambda f(ts + (1-t)y) + \lambda' f(ts + (1-t)y') \\ & \leq \lambda f(ts + (1-t)u) + \lambda' f\left(ts + (1-t)\frac{\lambda y + \lambda'y' - \lambda u}{\lambda'}\right), \end{aligned}$$

$$\begin{aligned} & \lambda f\left(t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y\right) + \lambda' f\left(t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y'\right) \\ & \leq \lambda f\left(t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)u\right) + \lambda' f\left(t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)\frac{\lambda y + \lambda' y' - \lambda u}{\lambda'}\right). \end{aligned}$$

Thus the inequalities can be concluded by

$$\begin{aligned} & \frac{1}{2}(\mathcal{H}_1(t) + \mathcal{H}_2(t)) \\ & = \frac{1}{2(\lambda + \lambda')(y-x)} \int_x^y \left[\lambda f(ts + (1-t)y) + \lambda' f\left(t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y'\right) \right] \\ & \quad + \left[\lambda' f(ts + (1-t)y') + \lambda f\left(t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y\right) \right] ds \\ & \leq \frac{1}{2(\lambda + \lambda')(y-x)^2} \int_x^y \int_x^y \left[\lambda f(ts + (1-t)u) + \lambda' f\left(ts + (1-t)\frac{\lambda y + \lambda' y' - \lambda u}{\lambda'}\right) \right] du \\ & \quad + \int_x^y \left[\lambda f\left(t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)u\right) \right. \\ & \quad \left. + \lambda' f\left(t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)\frac{\lambda y + \lambda' y' - \lambda u}{\lambda'}\right) \right] duds \\ & = \mathcal{F}_1(t) \\ & \leq \frac{1}{2(\lambda + \lambda')(y-x)} \int_x^y [\lambda f(ts + (1-t)x) + \lambda' f(ts + (1-t)x')] \\ & \quad + \left[\lambda f\left((1-t)x + t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) + \lambda' f\left((1-t)x' + t\frac{\lambda y + \lambda' y' - \lambda s}{\lambda'}\right) \right] ds \\ & = \mathcal{L}_1(1-t), \end{aligned}$$

where the last inequality once again follows from Lemma 1.1.

For (15), note that

$$\begin{aligned} & \int_x^y \left[\lambda f(ts + (1-t)u) + \lambda' f\left(ts + (1-t)\frac{\lambda y + \lambda' y' - \lambda u}{\lambda'}\right) \right] du \\ & = \int_x^{\frac{x+y}{2}} \left[\lambda f(ts + (1-t)u) + \lambda f(ts + (1-t)(x+y-u)) \right. \\ & \quad \left. + \lambda' f\left(ts + (1-t)\frac{\lambda y + \lambda' y' - \lambda u}{\lambda'}\right) + \lambda' f\left(ts + (1-t)\frac{-\lambda x + \lambda' y' + \lambda u}{\lambda'}\right) \right] du \\ & \leq \int_x^{\frac{x+y}{2}} [\lambda f(ts + (1-t)x) + \lambda f(ts + (1-t)y) \\ & \quad + \lambda' f(ts + (1-t)y') + \lambda' f(ts + (1-t)x')] du \\ & = \frac{y-x}{2} [\lambda f(ts + (1-t)x) + \lambda f(ts + (1-t)y) \\ & \quad + \lambda' f(ts + (1-t)y') + \lambda' f(ts + (1-t)x')]. \end{aligned}$$

Similarly, we have

$$\begin{aligned} & \int_x^y \left[\lambda f \left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)u \right) \right. \\ & \quad \left. + \lambda' f \left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t) \frac{\lambda y + \lambda' y' - \lambda u}{\lambda'} \right) \right] du \\ & \leq \frac{y-x}{2} \left[\lambda f \left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)x \right) + \lambda f \left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y \right) \right. \\ & \quad \left. + \lambda' f \left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)y' \right) + \lambda' f \left(t \frac{\lambda y + \lambda' y' - \lambda s}{\lambda'} + (1-t)x' \right) \right]. \end{aligned}$$

These imply $\mathcal{F}_1(t) \leq \frac{1}{2}[\mathcal{L}_1(1-t) + \frac{1}{2}(\mathcal{H}_1(t) + \mathcal{H}_2(t))]$ and our result follows. \square

We remark that, under our formulation, we cannot generalize all parts of the theorems in [16]. It will be our future study to get full generalizations of these theorems and further extensions of the inequalities involved.

REFERENCES

1. P. Czinder and Z. Páles, An extension of the Hermite-Hadamard inequality and an application for Gini and Stolarsky means, *J. Inequal. Pure Appl. Math.*, **5** (2004) 2. Art. 42; Available online at <<http://www.emis.de/journals/JIPAM/article399.html?sid=399>>.
2. S. S. Dragomir, Two mappings in connection to Hadamard's inequalities, *J. Math. Anal. Appl.*, **167** (1992), 49-56.
3. S. S. Dragomir, A refinement of Hadamard's inequality for isotonic linear functionals, *Tamkang. J. Math.*, **24** (1993), 101-106.
4. S. S. Dragomir, D. S. Milošević and József Sándor, On some refinements of Hadamard's inequalities and applications, *Univ. Belgrad. Publ. Elek. Fak. Sci. Math.*, **4** (1993), 3-10.
5. S. S. Dragomir, On the Hadamard's inequality for convex on the co-ordinates in a rectangle from the plane, *Taiwanese J. Math.*, **5**(4) (2001), 775-788.
6. S. S. Dragomir, Further properties of some mapping associated with Hermite-Hadamard inequalities, *Tamkang. J. Math.*, **34**(1) (2003), 45-57.
7. S. S. Dragomir, Y.-J. Cho and S.-S. Kim, Inequalities of Hadamard's type for Lipschitzian mappings and their applications, *J. Math. Anal. Appl.*, **245** (2000), 489-501.
8. S. S. Dragomir, Hermite-Hadamard's type inequalities for operator convex functions, *Appl. Math. Comput.*, doi:10.1016/j.amc.2011.01.056.

9. L. Fejér, ber die Fourierreihen, II, *Math. Naturwiss. Anz Ungar. Akad. Wiss.*, **24** (1906), 369-390, (In Hungarian).
10. J. Hadamard, Étude sur les propriétés des fonctions entières en particulier d'une fonction considérée par Riemann, *J. Math. Pures Appl.*, **58** (1893), 171-215.
11. D.-Y. Hwang, K.-L. Tseng and G.-S. Yang, Some Hadamard's inequalities for coordinated convex functions in a rectangle from the plane, *Taiwanese J. Math.*, **11**(1) (2007), 63-73.
12. A. Matković, J. Pecarić and I. Perić, A variant of Jensens inequality of Mercers type for operators with applications, *Linear Algebra Appl.*, **418**(2-3) (2006), 551-564.
13. B.G. Pachpatte, On some inequalities for convex functions, RGMIA Research Report Collection 6(E) (2003). Available online at <[http://rgmia.org/v6\(E\).php](http://rgmia.org/v6(E).php)>.
14. K.-L. Tseng, S.-R. Hwang and S. S. Dragomir, On some new inequalities of Hermite-Hadamard-Fejr type involving convex functions, *Demonstratio Math.*, **XL**(1) (2007), 51-64.
15. K.-L. Tseng, G.-S. Yang and K.-C. Hsu, On some inequalities of Hadamards type and applications, *Taiwanese J. Math.*, **13**(6B) (2009), 1929-1948.
16. K.-L. Tseng, S.-R. Hwang and S. S. Dragomir, New Hermite-Hadamard-type inequalities for convex functions (II), *Comput. Math. Appl.*, **62** (2011), 401-418.
17. K.-L. Tseng, S.-R. Hwang and S. S. Dragomir, New Hermite-Hadamard-type inequalities for convex functions (I), *Applied Mathematics Letters*, **25** (2012), 1005-1009.
18. Z.-G. Xiao, Z.-H. Zhang and Y.-D. Wu, On weighted Hermite-Hadamard inequalities, *Appl. Math. Comput.*, doi:10.1016/j.amc.2011.03.081.
19. G.-S. Yang and M.-C. Hong, A note on Hadamards inequality, *Tamkang. J. Math.*, **28**(1) (1997), 33-37.
20. G.-S. Yang and K.-L. Tseng, On certain integral inequalities related to Hermite-Hadamard inequalities, *J. Math. Anal. Appl.*, **239** (1999), 180-187.
21. G.-S. Yang and K.-L. Tseng, Inequalities of Hadamard's Type for lipschitzian mappings, *J. Math. Anal. Appl.*, **260** (2001), 230-238.
22. G.-S. Yang and K.-L. Tseng, On certain multiple integral inequalities related to Hermite-Hadamard inequalities, *Utilitas Math.*, **62** (2002), 131-142.
23. G.-S. Yang and K.-L. Tseng, Inequalities of Hermite-Hadamard-Fejr type for convex functions and lipschitzian functions, *Taiwanese J. Math.*, **7**(3) (2003), 433-440.